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NOTE:! . :
1. Question No. 1 is Compulsory
II.  Attempt any FOUR questi::m from2to7y

Alarge Bank has several hranches atdjf’ferent places. Each branch maintains the
account details of customer. The tustomer may cpen joint as well a5 single aceounts.
The banl also provides the loan to the customer for different purposes. Banlk iceeps
record of each transaction by the customer to his accnunt All of the branches hav
emplovees utaf‘ some eniployees aré manager.

Construct an ER diagram for the above banking system. Document all asstimptions
that you malke for designing,.

Write a schema definitiorn and normalize all tables to aNF for the above tzR dizgram.

Whatis deadlpc_]{?-Descri.bia deadlock detection and preventicrn technique.
Discuss the three steps in crash recovery in ARIES

Define minimal cover and closure for functional dependengies.

.Consider the relation R(P,Q,R,X,¥,Z) and set of functional depen-encies are

P->Q, RX{->Y, RX->Z
P>R, Q->Y% :
Obtain uther functional dependencles and compute tlosure of PX s

‘Write a detas.led note on query uptimlzahnn

'Explam hash hased mde:-nng. Discuss the uge uf hask Iunctmn in 1deut1fy1ng a bucket

to search.

Explain ther esp DnSlbllltlES of DBA.

'Explam the arch;ter:ture ﬁﬁ database system and also e,xplaln howitis dlfferent from

conventional file system.
Explain the terms Lnssless join decum z;oamnn and Dependeucy presewmg

if‘,:_

.What'is locking pmtqco]? Desciibe the 2 phase lnckmg prntﬂml and. strlct hvo phase

locki ng protocol.-
What is Bell LaPadula moel? _Explam the intuition behind its two rules

Write a short nnte on ﬂiltimﬂng (any Three)
ACID Property N

‘Grant and Revoke € Sommand

Shadow Paging

"Aggregation ahd Terﬁar}? relatmnshrp
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